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EAN: sS4t
HE: sS04 B B (SYHLLM/5Y - 55)
SRl s (29l 8)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
402 SI2FXHE0| M 7,000 7,000 0
01 SIZEXIEANSEXR (MMM E) 7,000 7,000 0
OFAMU 0lsa A=SIIXSE 7,000,000& 7,000
SNsIE 2EH HIIZE MHelArg 8,000 0 8,000
= 2,400
Al 5,600
301 et A= 8,000 0 8,000
= 2,400
Al 5,600
11 JIEtE A= 8,000 0 8,000
OFMsIH 2S84 HIIZ H2lAY
8,000,000& 8,000
& 2,400
Al 5,600
SR FSE NS 50,000 100,000 A 50,000
301 et A= 50,000 100,000 A 50,000
11 JIEtE A= 50,000 100,000 A 50,000
OFME HI| HYES AMlz= BEEH|
15,000,000 15,000
O2H Al IEE S Al EFH|
20,000,000 20,000
OXFI| B4 WEEAH - A=t
15,000,000& 15,000
=82S ALY 46,000 36,000 10,000
206 M EHl 46,000 36,000 10,000
01 X Z Hl 46,000 36,000 10,000
OJIE MY Xt 2138 g9 2*35332¢
13,000,000& 13,000
OJIIEEYEY 2128 ol WAXS (A0
HhHl 2 28) 13,000,000& 13,000
oxc¢eErd MY 10,000,000 10,000
OSO0LAl BAFY XEAS 10,000,000& 10,000
&Y 29d A5t 32,200 31,000 1,200
201 et | 32,200 31,000 1,200
01 AP 2t 2| bl 19,000 19,000 0
OJ=AHE Al =2 9,500,000& 9,500
OEEEAl 2tE H = 1,360,000 1,360
OFMSIE ALY HAS Xeltl
1,000,000 1,000
O}z Y =2 1,340,000 1,340
OJIIZYUAAMEAIZLI} S| 2,800,000& 2,800
OJIEAHE HES&EH X 3,000,000& 3,000
02 224 H| 13,200 12,000 1,200
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SN SEMD
HE: sS04 B B (SYHLLM/5Y - 55)
EE R (298 R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 188,340 188,340 0
ostnesa4 A& 188,340, 000& 188,340
J| 113,004
< 22,601
Al 52,735
Sa20/ 2N (M2 Ol8H HEREHI) 51,974 55,986 24,012
J| 25,987
< 7,796
Al 18,191
307 21201 A 51,974 55,986 24,012
J| 25,987
< 7,796
Al 18,191
02 QIAFAAHEX 51,974 55,986 24,012
O#HE R34 X& 51,974,000 51,974
Jl 25,987
< 7,796
Al 18,191
qlless 25 XA 42,000 32,000 10,000
206 M= Hl 2,000 2,000 0
01 =8l 2,000 2,000 0
RIllse 25 AT & AMAEXH
1,000,000 1,000
ORIIsE N8 4357 1,000,000& 1,000
301 et d = 40,000 30,000 10,000
NMIEEd= 40,000 30,000 10,000
oORJIs=zel 40,000,000& 40,000
SESEMAY 1,000 2,000 A 1,000
201 Let2d] 1,000 2,000 A 1,000
01 At 22l 1,000 2,000 A 1,000
O=s=sE e =2 X2 1,000, 000& 1,000
SMZHE L5 2,733,042 2,896,422 A 163,380
= 312,000
J| 460,240
= 377,427
Al 1,583,375
IMNSHASE JIAHZH KA 224,000 159,500 64,500
J| 56,000
< 50,400
Al 117,600
402 RI2HX20| ™ 224,000 159,500 64,500
J| 56,000
< 50,400
Al 117,600




N sE&N
HE: SEAY A A (SHLLL/SY - SE)
el EMFMHYS (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 224,000 0 224,000
OZAE Mo BHH Zyl X2
224,000,000 224,000
J| 56,000
< 50,400
Al 117,600
IMNSHAMAS AFZ2XHE X3 864,000 970,920 A 106,920
J| 288,000
= 144,446
Al 431,554
402 2I2H X201 M 864,000 970,920 A 106,920
J| 288,000
= 144,446
Al 431,554
02 QI EALS EZ (01X THS) 864,000 0 864,000
OFANBMME ALANHME X
864,000,000& 864,000
J| 288,000
= 144,446
Al 431,554
IMNSHAZ SIFY N 132,240 125,700 6,540
9] 72,240
< 18,000
Al 42,000
402 2I2HAHE01 M 132,240 125,700 6,540
J| 72,240
< 18,000
Al 42,000
02 QI EASEZ (01X S) 132,240 0 132,240
OxZMSMME BSXFY XF 105,000,000 105,000
J| 45,000
= 18,000
Al 42,000
O2Z AN HE X 27,240,000 27,240
J| 27,240
TAE S22l K& 16,100 16,100 0
J| 8,050
< 1,430
Al 6,620
101 1A Hl 12,500 12,500 0
J| 6,250
= 1,110
Al 5,140
04 JIZHHZ2XNHEE S 12,500 12,500 0
OXAE S& EOot 1Ayl 12,500, 000& 12,500
J| 6,250
< 1,110
Al 5,140
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el
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w
N
tol
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1>
x
~
Ot

SN P S(EA) - HRAY -

HYS

0l &t o

=

i
2m

201 fEt2E |

Jl

= M

3,600
1,800

320
1,480

3,

600

3,600,000

Hhn X

Al

3,600
3,600

1,800
320
1,480

3,

600

H

180,000
180,000

,600

161,400

402 QI2tXt= 01 &

H

180,000
180,000

,600

161,400

02 A 2AMLEZ(0IXTHE)
OFMAIE Bz AL

180,000, 000&

H

180,000

180,000
180,000

180,000

StHSOHH S A&

Jl|

t

Al

58,100
35,950

6,645
15,505

58,

100

307 glztol &

y

H

Al

58,100
35,950

6,645
15,505

58,

100

58,100,000&

= H

58,100

58,100
35,950

6,645
15,505

58,

100

= MW

10,000
5,000
1,500
3,500

190,

000

A 180,000

307 21201 &

= W

10,000
5,000
1,500
3,500

,000

10,000,000&

= N H

10,000

10,000
5,000
1,500
3,500

,000

rEE2R EdHE X

= HmnH

164,150
110,000
33,150
21,000

164,150
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0y

402 212t Xt=01& 164,150 0 164, 150

110,000
33,150
21,000

= N H

02 U TEALEZ(0IETHE) 164,150 0 164, 150

HE Al £

=) 164,150,000& 164,150
110,000
33,150
21,000

4

©
=

= HmnH

HHMEE X 59,500 0 59,500
17,000
12,750
29,750

= Hn W

402 212t A= 01 & 59,500 0 59,500
17,000
12,750
29,750

= Hn W

HEZ(OIXMTHE) 59,500 0 59,500
IHEx XA 59,500,000& 59,500

17,000
12,750
29,750

= M W

II=E2=XMelAE XA 30,000 0 30,000
7,500
22,500

= M

402 RI2HX= 01 M 30,000 0 30,000

7,500
Al 22,500

H

02 Q=AML EE(0IATHE) 30,000 0 30,000
OJ=E EH=cI X 30,000,000& 30,000

7,500
Al 22,500

H

=Tl 2 X & 20,000 20,000 0
8,000
Al 12,000

H

307 21201 & 20,000 20,000 0

8,000
Al 12,000

2l

20,000 20,000 0
20,000,000& 20,000

8,000
Al 12,000

o
N
o e
oo
Ao
= 0
=T
02
H
P

0o
>
0

Hn

ISt A ZAE KE 15,450 141,000 A 125,550
= 3,090
Al 12,360

402 212t X201 & 15,450 141,000 A 125,550




EAN: sS4t
M SEAQ WA LS (SHYHLLL/ =&)
el EMFMHYS (sl &2)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 3,090
Al 12,360
02 BIZtXIEANYEX(0OIETHH) 15,450 0 15,450
OZESI X ZAE PYUHl A
15,450,000 15,450
< 3,090
Al 12,360
SANAIE EHMNL 4,320 4,320 0
< 1,850
Al 2,470
402 SI2F X201 & 4,320 4,320 0
< 1,850
Al 2,470
02 BIZtXIEANYEX(0OIETHH) 4,320 0 4,320
OFAAAE BHIMNA 4,320,000& 4,320
< 1,850
Al 2,470
ENE =58 XS 15,900 15,900 0
& 6,360
Al 9,540
307 QI2t0| ™ 15,900 15,900 0
& 6,360
Al 9,540
02 QI2tAAMAIE E =X 15,900 15,900 0]
oOFMNZE =&5&5& X 15,900,000& 15,900
& 6,360
Al 9,540
INEER =222 M & 30,000 25,600 4,400
== 9,000
Al 21,000
402 DIZHRFEO0I A 30,000 25,600 4,400
o=t 9,000
Al 21,000
02 QIZEXIEAISE X (0| XM THL) 30,000 0 30,000
OIE2L =28 N 30,000,000 30,000
& 9,000
Al 21,000
FShsIF AFUX A 48,000 35,700 12,300
& 14,400
Al 33,600
402 SI2FXHE0| & 48,000 35,700 12,300
&< 14,400
Al 33,600
02 CIZEXIEAIS B X (0| XM THL) 48,000 0 48,000
OFMSIE LFEX WA 48,000,000 48,000
= 14,400
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307 21201 &

H

Al

24,000

7,200
16,800

24,000
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14,000,000&

Al

n

Al

24,000
10,000
3,000
7,000
14,000
4,200
9,800

24,000

SHN AL

= N

10,800

2,700
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307 glz2tol &

H
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= M
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2,700
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= M
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6,600
26,400

33,000

307 21201 &

= M

33,000

6,600
26,400

33,000

33,000,000&

Eal |

33,000

33,000

6,600
26,400

33,000

Al

18,400

7,360
11,040

18,400

307 glztol &

= M

18,400

7,360
11,040

18,400

o
N
=l
v
0
0z

©
o
10
b
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kJ
il
i)
0z
[P
0
IRt
il]
b
_ o

8,400,000&

=

18,400

18,400

7,360
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18,400
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S=4t
SEMY BME (S / &)
R EEE
= - - SHE|
SN FHE - B(SA) - MEAY - BHES e
= 7,680
Al 1,680
307 glz2tol & 3,360 3,360
< 1,680
Al 1,680
02 It M AHE X 3,360 3,360
O Ed FLE 3,360,000 3,360
< 1,680
Al 1,680
S=dHXAAZ 24,000 24,000
< 9,600
Al 14,400
307 21201 A 24,000 24,000
< 9,600
Al 14,400
02 21t Z &FAL & 24,000 24,000
od=gH X& 24,000,000& 24,000
= 9,600
Al 14,400
HaseNY 26,966 26,966
= 5,013
Al 21,953
307 gl2tol & 26,966 26,966
< 5,013
Al 21,953
02 IZtF M AHE L 26,966 26,966
Oittr s F 11,372,000& 11,372
< 1,895
Al 9,477
Osg XA 15,594,000& 15,594
< 3,118
Al 12,476
o2 AR DR N M ALY 33,700 33,700
= 13,480
Al 20,220
402 RI2EX20| M 33,700 33,700
< 13,480
Al 20,220
02 QI 2 AL EZ (O TH ) 33,700 0
OLsSAY RZNE ALY 33,700,000& 33,700
< 13,480
Al 20,220
MBHEA SCXEE 7,956 7,956
= 2,273
Al 5,683
402 RI2HA=20| M 7,956 7,956




SN SEMD
HE: sS04 B B (SYHLLM/5Y - 55)
el SaFMYs (ol @)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,073
Al 5,683
02 LA TEALEZ(0IETHR) 7,956 0 7,956
OMEMNEL 2EXEHX K& 7,956,000 7,956
= 2,273
Al 5,683
NS HA DJlEtE S 115,000 117,000 A 2,000
206 = Hl 8,000 6,000 2,000
01 MHZ 4l 8,000 6,000 2,000
ONAHXZAIZ E2YH0 HEgs X
8,000,000& 8,000
402 RIZ2ERt20l ™ 107,000 106,000 1,000
01 2IZt X2 AL E = (REM &) 107,000 106,000 1,000
O=AMZE HEI XA 16,000, 000& 16,000
OZXALE MAFU(ACIHU)X &
10,000, 000& 10,000
O=ZAelXl BHIEMZE XI& 30,000, 000& 30,000
OAEXZAIZE Mo ST XA 21,000,000 21,000
OAZHHE Dl XI& 30,000, 000& 30,000
FTACHHI Sa3 3 gkt 214,600 195,100 19,500
201 Ler24E] 16,600 16,600 0
01 At 22l 10,000 10,000 0
O=ZMNZ ML 222 WA 3,500,000& 3,500
OsMZX2AA EE2E M 3,500,000& 3,500
OFAE 23 IHAX 3,000,000& 3,000
02 23=2gl 6,600 6,600 0
O0z22= & HA 3,600,000 3,600
O A& ZHI S X 3,000,000& 3,000
206 M= Hl 25,000 24,500 500
01 M= 4l 25,000 24,500 500
ONlMEAZ FIH R (F=20t2 . 0/ALd
X< 16,000, 000& 16,000
OEHHM P (IS0t ,20IALM XA)
8,000,000& 8,000
O%Hl d=2=24) Mz 7¢ 1,000,000& 1,000
301 et A3z 3,000 4,000 A 1,000
09 &AL HIZ &S 3,000 4,000 A 1,000
o4& &3 AHl24 3,000,000& 3,000
307 izl & 40,000 20,000 20,000
02 IZtE M AHE X 20,000 0 20,000
O Z2H 2z XN 20,000,000& 20,000
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SN SEAD
H: LY FWA AsH(sPHLd/s2 - 5F)
el SaFMYs (ol @)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 20,000 20,000 0
OBt S O0HX M AHHE HI ALY 20,000,000& 20,000
402 RI2HXt20l ™ 130,000 130,000 0
01 2IZt Xt 2 AL E = (REM &) 130,000 130,000 0
O=4tsIt A HER HE A 25,000,000 25,000
ON=EERn =222 NJAZ 30,000,000 30,000
O=ANII Jr=0lol X S3& X&
25,000,000& 25,000
OF A THEHOIZE AIAE(CCTV) X2
20,000,000& 20,000
O& A MYl EHl K& 30,000,000& 30,000
steBHE =4 175,000 163,500 11,500
201 2et24d] 5,000 5,000 0
01 At 22l 5,000 2,000 3,000
OIEHUNMEHS DU 222 A
2,000,000& 2,000
Osd=E BdHE XA 3,000,000& 3,000
206 M= Hl 20,000 20,000 0
01 M= 4l 20,000 20,000 0
OstEHE E=Z AN XA 20,000,000& 20,000
307 21201 A 4,000 5,000 A 1,000
04 QIZFHALAIH B = 4,000 5,000 A 1,000
OStREIANINE DEAUAIEE LRSI W=l
2 AL X 4,000,000& 4,000
402 BIREXHE0 A 146,000 133,500 12,500
01 U2 EAILE X (KA ) 146,000 133,500 12,500
OZDEFdAIEER BHE HAME XA
110,000, 000& 110,000
Ot UA AE==3 N 7,500,000 7,500
Onssy 4 23 FHelza N 12,500,000 12,500
oAnzgsI XA 16,000, 000& 16,000
StAtE =4 K& 37,500 30,000 7,500
402 RI2EXt20l ™ 37,500 30,000 7,500
01 2IZt Xt 2 AL E = (REM &) 37,500 30,000 7,500
Ogte =Z& 04 XI& 27,500,000 27,500
CoE3+d FE3 ALY X& 10,000, 000& 10,000
RAFZINEAS 55,000 35,500 19,500
307 glz2+ol & 2,000 3,000 1,000
04 QIZFHALAIH 2 = 2,000 3,000 21,000
OYd=s228s AMIANXNE RASIH WSH L
AL R 2,000,000& 2,000




SN SEMD
HE: sS04 B B (SYHLLM/5Y - 55)
el EMFMHYS (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 53,000 32,500 20,500
01 2I2E 2 A B (KR ) 53,000 32,500 20,500
OHsSHAMNEAS (HRE HE) 7,000,000 7,000
O~ HEM X&A 18,000, 000& 18,000
ORA HEFM RFHNH XN 8,000,000& 8,000
OMZE X SZId XI& 20,000,000& 20,000
AE - LS PRMAAY 74,000 79,700 A5,700
307 21201 A 2,000 3,000 A 1,000
04 QIZFHALAIE B & 2,000 3,000 A 1,000
OUetL=EIAEANXNE =5 W=EH L
A KR 2,000,000& 2,000
402 RIZ2EXt20l ™ 72,000 76,700 A 4,700
01 2IZt X2 AL E = (REM &) 72,000 76,700 A 4,700
oL=dE d - &I XA 7,000,000& 7,000
O=A 371 & Mol X& 5,000,000& 5,000
O2d= AZ2=01J] XI& 5,000,000 5,000
oOLxE=sIt 245 &R XA 20,000,000& 20,000
O=g S0t8 t2XNH 25,000,000 25,000
oOgE sl € Ax"g X
10,000, 000& 10,000
SMddls HEES 8,000 212,000 A 204,000
= 3,000
Al 5,000
402 RI2HXt20l ™ 8,000 212,000 A 204,000
< 3,000
Al 5,000
02 2IZt 2 AL EZ (OIS ) 8,000 0 8,000
OAl -2t - AIBE 2F disIt 4 AldY
8,000,000& 8,000
< 3,000
Al 5,000
Hees(ss4n)(sdldsdt/sd - =&) 1,000,000 500,000 500,000
WHEHHX S 1,000,000 500,000 500,000
Bt HEES 1,000,000 500,000 500,000
701 JIEtSI HETES 1,000,000 500,000 500,000
01 JIEtSI HE &= 1,000,000 500,000 500,000
Os0HYLHII=SEIH HES
1,000,000, 000& 1,000,000
HH2AZH (s 40)(IIEHIIE) 192,477 196,931 N4, 454
ol 2 gl 80,297 84,751 N4,454
ol 2AH| 80,297 84,751 A4, 454
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M SEMD
HH: 2 3H (sHLD)(OIE/IIE)
chel: ol gyl CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
101 @l H] 80,297 84,751 AN4,454
01 2=+ 76,275 80,729 N4,454
ozxu=2=¢ 76,275
o632 10,6823 x3H «40A| 2t *12E 15,383
o7g 9,649& 4 +40A| 2t 12 18,527
S = 8,663 *1& *40A| 2t 12 4,159
=9 7,830& 2 »40A| 2t+ 128 7,517
o Xl & At 27,794
-21e 30l & 10,0733 «2B »40A| 2tx 128 9,671
-20=30l5t 9,4398 »4H x40 Al 2t 12 18,123
SPSEP R 76,169,0003 *3.8% 2,895
02 Bt M E =+ 4,022 4,022 0
O3 M ZU2F =F 4,021,440 4,022
Z 4l 112,180 112,180 0
=34l 112,180 112,180 0
201 fEt2E | 47,920 47,920 0
01 AtR 2t 2l | 23,920 23,920 0
o2 =g (LAHl) 13,920,000 13,920
O =&l 2,000,000& 2,000
ogxz 8,000,000& 8,000
02 3524t 24,000 24,000 0
0332 % HAl 22,000,000& 22,000
O = Hl 2,000,000& 2,000
202 o4 Hl 54,720 54,720 0
01 S OHI 54,720 54,720 0
OZUEZ 0 240,000& x12& 19 54,720
203 2R =AY 9,540 9,540 0
01 J122gg 24| 3,300 3,300 0
OsgJllsdE2d 3,300,000& 3,300
02 Z3Jtatg 2= 2,040 2,040 0
OXZALIIEE b 2,040,000& 2,040
04 FAE2EE =L 4,200 4,200 0
ORNZ2ZERFAH 350,000 ~12& 4,200
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